Name

Honors Math III - Unit 6 - Circles

~

Date Lesson/Objective Homework

Thurs. Tangents HW 6-1

Nov. 16

Fri. Chords and Arcs HW 6-2

Nov. 17

Mon. Inscribed Angles HW 6-3

Nov. 20

Tues. Angle Measures and Segment Lengths HW 6-4

Nov. 21

Mon. Equations of a Circle HW 6-5

Nov. 27

Tues. Area of the Sector of a Circle and Arc Length HW 6-6

Nov. 28

Wed. Review Complete
Review WS

Nov. 29

Thurs. Test

Nov. 30




Kuta Software - Infinite Geometry

Tangents to Circles

Determine if line AB is tangent to the circle.
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Find the segment length indicated. Assume that lines which appear to be tangent are tangent.
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Find the perimeter of each polygon. Assume that lines which appear to be tangent are tangent.
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Tangents of Circles Name:
Math 3

sctions: Assume that lines that appear to be tangent are tangent. O is the center of each circle. What is the
value of xe | §o

Directions: In each circle, what is the value of x to the nearest tenth?

4. 5. 6. 50
1. .1 2
.’ (X41) =x e 12
5 82 X Cloxi Y = iy
1,671 -
Pl -(6’_“?) 6=(2¢ -ys )bx_gﬁ:o 6(4,(2)2‘:)3-{20’
Yoo xt — Y5 15 _ A K =y
K91z )Mt 36 @ =375 =3 Y UL H Y =2 00
) BN G
— _ P _ 29x-256= 0
7. TYand ZW are diameters of @S. TU and UX are tangents of ©S. What is m£SYZ#
/§o—122= 5§ 3
w
Tx+5§=(fo X
21 = 121 y
T
Directions: Each polygon circumscribes a circle. What is the perimeter skeachpolygon?
8. g 3mm 9.
/ 101n.
8 mm
17 mm / -~
O M/"l 6in. .
7 mm | —) 7 5 e/zfq
7 G kg
10. 11. &
21 ft
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Practice (,-) Chords & Arcs of Circles Name:
Math 3

. The circles at the right are congruent. Which conclusion

can you draw? D s
@ CD = ST @ LAEB &= LQUR )

> LCED = £SUT < BD = RT B R

o

2. JG is the diameter of ©M. Which conclusion cannot be

drawn from the diagram?
o
@ IG=CGH D GH= GL

For Exercises 3 and 4, what is the value of x to the nearest tenth?
3. w 4.
T
.» 6 T 2.0 t = xl

) (X)) s
v =/

2
Lo+i= Yrzs
B 4.2 @ 104 @® 36 @ X

- =53 2r
@ D 11.6 @ 5.8 D 14.3 =133
5. If ZAFB = / DFE, what must be true? C X = ‘“ ‘33
AB =D © TF L AE m ed
® BC = DE B LBFC = LDFC A £

6. A student draws Ox with a diameter of 12 cm. Inside the circle she inscribes equilateral AABC so that
AB BC  gnd C4 are all chords of the circle. The diameter of Ox pisects 4B, The section of the

diameter from the center of the circle to where it bisects AB is 3 cm. To the nearest whole number,
what is the perimeter of the equilateral friangle ir |5cril;)\ed in @xe

(91-' -S‘L: X h

% Z6-9= 41

: 17 =x?
ANEZA



Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant



Homework 6.,3 Inscribed Angles
Math 3

76°

Directions: Find the value of each variable. Lines that appear to be tangent are fangent.
224°

256°

Directions: Find each indicated measure for OM.

0

10. m«B 8& 11. mzC L/BD

12. mBC (0T 13, mAC
\1z°

Directions: Find the value of each variable. For each circle, the dot represents the center.

56°
14, 15.

A.\.v oo

L (124) )
b=1¥ =t az3?

16. 10

B(W _ 39 -6
Sl — 13N
(o
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e 3
Homework 6.4: Angles and Segments Name: H W (‘7 D

Math 3

:ctions: Solve for x.

88° l"}({_‘ 2 2

1.

Directions: Solve for each variable listed.
r= 7

4, 120° 5. 47 960 é.
2 _\3)
7 ' Y —_—
[15-6D _ 20 S0 (e (
-2 W 4 - (3:: x) ., &gy X
gy ~/(2' = 9 0
- 3[/0 X /?
- 276 = -2x X —_— [g

— é 0

B

7. Thereis a circular cabinet in the dining room. Looking in from Cabinet /~ ‘

another room at point A, you estimate that you can see an
arc of the cabinet of about 100°. What is the measure of ZA 'Zém “

formed by the tangents to the cabinet? Kitchen

doorway

oo =€ =
— Z

Directions: Find the diameter of @O. A line that appears to be tangent is tangent. If your answer is not a whole
number, round to the nearest tenth.

8. a%6 =107 9,
‘ﬁ G6=8 x
56

2w~ X3 _
=fx \2-(t)=24.5 ¢ s I(:

; i~ 5 EEED
2 - K 1% = 4327

Directions: CA4and CB are tangents to @ O. Write an expression for each arc or angle in terms of the given

iable.
varigapie Z Z \’ A
11. mAB using x 12. mABusingy 13. m£C using x
X-E C Yo
=== X—(3%
V: 0¥) .
7= %0-2 -2y 2
22z 3G -1y = Ux-36 Zau

(22189 [\ FETS


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant



Homework 6,5 : Equations of Circles Name
Math 3

e: If r2is not a perfect square then leave r in simplified radical form but use the decimat equivale
graphing. Example: v12 = 24/3 =3.46

1) Graph the following circle:

a. (x-3)2+(y+1)2=4 b. (x-2)2+(y-5)2=9 c. (y+4)2+(x+2)2=16
L T -
] ™ 1 . \] ‘//«\\ »
/ AN ), ] pd RN
1 ) \ — / N
! g N q \
N -
L //
—t —— v o [ () Y VP

2) For each circle, identify its center and radius.

a. (x+3)2+(y-1)2=4 b. b.x2+(y-3)2=18 c. [y+8)2+(x+2)2=72
Center: L'sl | Center.(0 |3 ) Center( "Z,’S}
Radius:___ L Radius: 302 Radius: é’J/Z
3) Write the equation of the following circles:
/:':
| <>< ‘\'L(>4(\( 'B>:27J 1) | A
® L/ ?'__ > '
T r A1) 4 () =9
T (A1) 4+ ()
| | i

4) Give the equation of the circle that is tangent to

51 Compare and contrast the following pairs of circles
a. Circle #1: (x-3)2+ [y +1)2=25 2,~1 ) Lefiy b.Circle #1: (y + 4)2+ (x+7)2=6 - 1,74 rszﬁ
¢

Circle #2: (x + 1)2+ (y-2)2=25 -[;¢C Le?d Circle #2: (x +7)2+ [y + 4)2=36 -7,"‘{ r=l
SNM r S6me k.
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6) Find the standard form, center, and radius of the following circles: /ﬁ
5=

y2—4x+8y-5=0 b. 4x2+ 4y? + 36y

> -
()( -131 Flat) =Y Xyt 9y ’/g

Center: Radius:
7) Graph the following circles. ot
a. x2-2x+y2+8y-8=0 SR
K sy L
] - L2E ] i
fn'é'..fi'-'a'-z};‘.ygfé'é':h P
7y e
Bk
F
ok
8) Give the equation of the circle whose center is 9) Give the equation whose endpoints of a diameter
(5,-3) and goes through (2.5) at (-4,1) and (4, -5)

7 g }
)= ot
é( ) \] XZJL(‘j”) :7/5

10) Give the equation of the circle whose center is 11) Give the equation whose endpoints of a diameter
(4,-3} and goes through (1,5) at (-3.2) and

Q(/@? #(Wﬁz =15
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Kuta Software - Infinite Algebra 2 Name a p &ﬁ/j)
\/\/\_/\_/

Arc Length and Sector Area Date Period____

Find the length of each arc. Round your answers to the nearest tenth.

1) 2)

5) r=18cm, €= 60° Z a [8@6) r= 16m 9=175°
- Q
<2 (C 2095

19n
7) r=9ft, 8= 7: 8) r=14ft, 6 = —

12 | ‘irr
(o 9. 64+
Find the length of each a
10

9

11)
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Find the area of each sector. Round your answers to the nearest tenth.

13) | 14

«
) om n , I-|0D
|" -

|
| | .@
\ /
\\.

15)

Find the area of each sect@

17) 18)

19) 20)

5
21) r=10 mi, =% 22) r=12yd,9=Tn ST

B 3 ) (
= P ™Y
797 7 7
23) r=7km, 6 =60° 24) r=7 mi, 6 =225°

__‘ o~ 4l 1Ll5
= Y9
o ST i

5 ™
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